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Europe’s Slow Growth:
A Warning for Korea®

Guy Sorman

It's a pleasure to be here again. | am full of admiration for the capacity
of the Korean people to get up so early in the morning. | know of no other
country where you could fill a room at 7 o’ clock. In France we would have
to start at around 10 or 10:30.

Last year | talked about the US economy with much confidence and if |
was to repeat the same argument | would not change much. | don’t consider
the crisis in the US banking system to be superficial, it has deep impact but
it has no impact on the US economy as such. It does slow growth but there
has been no recession and it does not seem like there will be a recession.
Therefore it can be considered as an accident in the system, it is not an
accident of the system. Many people are disappointed because they would
love to see the US economy fail and they would even more love to see
capitalism disappear. But it is still not the case. On the contrary it seems
to be that in spite of the awful mismanagement of the American financial
system, the US economy and the global economy has been quite resilient
and has been able to absorb the shock of this mismanagement. In a
paradoxical way, | would say that this financial mismanagement proved the
resilience of the American system and the American economy. | don’t think
the future months or years will change my perspective. Of course accidents
and crises do occur. But as | explained a year ago, crises are in the system
and no more of the system. It is one of the arguments that is in my book
Economics Don't Lie.

Shifting from the United States to Europe and slow growth in Europe, what

* Transcription of a speech given at the IGE Distinguished Lecture Forum on Wednesday, May 14, 2008



we can learn from that, and what Korea can learn from that? Everything is
of course is inter-connected. Since the late 19t Century, the US economy
is the leading economy. The US is the leader in terms of growth, innovation,
and not just technical innovation but in management innovation. And in any
system you have a leader during any period, before that the leader was the
United Kingdom.

Since the last century, all the other countries are trying to catch up with the
United States economy. Maybe some day another economy will catch up
with the United States and take over and the world will have a new leader.
But so far that is not the case because all the countries trying to catch up
with the US be it Western Europe to start with or Asia or India, Brazil, Latin
America are all adopting the macroeconomic policies of the US, as well as
microeconomics, management and technical innovation. We do not see
any micro or macroeconomic policy, management and technical innovation
which would be fundamentally different from what has been created in the
US. This is a fact, | don’t say we have to like it or not like it but it is a fact of
life. There is no Chinese way, no Indian way, no Korean way to build a car,
cell phone or manage a company or bank. You can do better than the US or
you can do less than the US but basically we are all following the guidelines
which have been defined in the US.

Now if we focus on Western Europe. What has been very remarkable
about Western Europe was that after World War Il there was a gigantic effort
for reconstruction and then an effort to catch up with the United States. And
when we look at Europe in the 1960s and 1970s, all Western European
countries were catching up with the US. In 1950s for example, the income
of people in Germany or France was half of what it was in the United States.
In the late 70s it was 80% of what it was in the United States. And the same
“catching-up” phenomenon was happening in Japan. Then new countries
joined the race like South Korea, Hong Kong, Taiwan and Singapore.

So the conventional wisdom in the late 60s and 70s are the economic
models who were not the United States were better. It was better because it




gave more importance to state regulation. It was more directed by the state
with some kind of planning and the heavy public investment in some sectors
like in France and South Korea or Japan. And also the welfare state which
certainly in the case of Western Europe that was more developed than the
United States. At that time the common wisdom was that United States was
losing the race and that Europe and maybe Japan were creating a new
model.

This kind of reflection disappeared in the early 1980s. In the early 80s a
new phenomenon appeared that was globalization. Why? For two simple
reasons. First the Soviet Union started to disappear and it became evident
that there were no more two economic systems but only one which was the
free market system. The other competitor had just vanished. The second
reason was because of technical changes and specifically because of the
Internet, communications and exchanges became instantaneous. And
we had for the first time a real global market in terms of communications,
information and capital. It appeared that in early 1980s the US understood
that the world was entering a new period. Japan and Western Europe did
not understand really what was going on. Many changes that had been
implement in the United States and later on by Margaret Thatcher in the
UK took into consideration the new parameters of this new economic world.
Specifically, the state had to be reduced, free trade had to be increased
and competition being everywhere more liberty was to be given to
entrepreneurship and the labor market had to be kept flexible. Destructive
Creation, a concept you know and | explained last time, the capacity to
shift rapidly from one sector to another because of foreign or domestic
competition. Destructive Creation was the key for success. This was not
understood or was not accepted by Europe except the UK and Ireland. On
the contrary, Western Europe decided to keep the system they had before
that they saw as better not only in economic terms but also social terms.

This is what has happened in the early 1980s in Western Europe, taxes
have been raised, state regulation has been increased, the welfare state
has been reinforced, and labor flexibility has been diminished. Why have all




these decisions been made? They have been made because when growth
goes down, you have less money, therefore in order to keep the welfare
state running and also with a population becoming older and older, you had
to raise taxes in order to finance your welfare state.

So what happened in early 1980s was a battle to keep the welfare state
the way it is or limiting the welfare system, introducing competition in the
insurance system and retirement system in order to give more liberty to
entrepreneurship. Only the UK and Ireland took, let’s say, the American way.
All the other countries kept all things going the same and even increased
the rigidity of the economic system. And it is not well understood, even in
Western Europe, why taxes increased during that period. The very rapid
increase in that period is as a consequence of slow growth. If you have slow
growth you have to increase taxes in order to protect the welfare state.

We can wonder why these decisions have been made in Western Europe
and one thing is very clear. In the early 80s in continental Europe, mostly
France, Germany, ltaly, we have very slow growth between 1% and 2%.
The demography is still increasing between 1% and 2%. The real growth
rate is 0% for more than twenty years. Why do we go on like that? Because
in this kind of stagnation you have winners and losers, therefore you must
understand the economic choice for political reasons.

The maijority of the people in Western Europe are rather old, they have a
job or they are retired or they are civil servants. So for them the system is
quite good, there is no disruption in their life. To look at France, 25% of the
people work for the public system in the public services or public company.
Most of the people who retire depend on the state system. So the vested
interest of the older people or the civil servants is the status quo. To change
a system, a government would need to rely on the outsiders, young people,
immigrants, people without education, young entrepreneurs, these people
who have a vested interest in changing the system are a minority.

If we shift for one moment from Western Europe to Japan. The situation in




Japan is very similar. If you look at what Japanese economists call the “lost
decade”, 0% growth for more than ten years, the “lost decade” in Japan has
been a collective choice even if it has never been promoted as such. What
happened in Japan? Basically older people became a majority. And many
companies with the help of banks could go along without any consequences
even if they were losing money, the so-called “ghost companies”. The “ghost
companies”, their employees and the public sector, let’'s remember the
postal service in Japan, the retired people altogether were the insiders like
in Europe. They had a political vested interest in maintaining the system
even if it meant only 0% growth. 0% growth was more comfortable than
changing and disrupting the system. And in Japan like in Western Europe
today, | think it is worse in Japan because of the demographic, you don'’t
have much support for making the Japanese economy, like the Western
economy, more dynamic than it is. This is not normally explained to the
people in that way, you have quite a contradiction between economic reality
and political reality. Nobody in Western Europe or in Japan is running for
office promising stagnation, they all promise growth but they never include
in the program the destructive reforms that would bring back growth on its
former track.

When we talk about Western Europe or Europe in general we have to get
into some distinctions. As | said before UK and Ireland are on a different
path and much closer for cultural reasons and because the situation was
very desperate in the late 70s, they have chosen a path much closer to the
US and they have been extremely successful. Ireland was once one of the
poorest countries in Europe is now among one of the richest and London as
we know is the financial capital of the world.

We also have to look at the eastern part of Europe which since 1991
wanted to get out of poverty and socialism. Therefore countries like Poland,
Hungary, Czech Republic and Slovakia were prepared to accept the free
market methods of the United States and the results proved to be very
good. If we remember what was told about these countries in 1990s, most
columnists said that they would need 50 years to catch up with the rest of
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Europe. This is not the case. They have proven that by rejecting a state
economy, central planning by choosing clearly free entrepreneurship, by
privatizing nearly everything that they are catching up very rapidly and it is a
huge success. Which are altogether an ideological success and a success
of free market policy.

Now | want to mention one factor that is not often mentioned, which
explains the slow growth of Western Europe, once again basically France,
Germany and ltaly. We have decided to work less. The same decision
was made by Japan in the early 1980s. In the early 1980s, the Japanese
government decided that they were working too hard and that they should
take long weekends. Public services and banks were closed on Saturdays.
A similar decision was taken in Germany and France where since 1983 it is
legally forbidden to work more than 35 hours a week.

Therefore if you look at all the economic parameters, and | refer to work of
Edward Prescott who won the Nobel-prize two years ago. Prescott showed
that after all, what you produce in Korea, Japan, France and in the United
States is the same, we produce cars, cell phones and we have the same
kind of services. We are not really different, management is the same,
and techniques are the same. When a technique is invented somewhere
in the next week or year it will be used everywhere. You visit a car factory
in France or Korea or Japan it is basically the same. So where does the
difference in growth rate comes from? It comes in the quantity of work, the
parameter that explains the difference in growth rate is basically the number
of hours worked globally by a nation. This is difficult to understand and
convey. | was yesterday night explaining that to a journalist in Seoul and he
said, “| work a lot”. | said, “Of course you work a lot as an individual.” But
economists don’t speak about individuals, we speak globally about a nation.
And in South Korea, like in all the countries which have been mentioned,
the quantity of work globally invested into the nation has been progressively
reduced. And as a consequence of the reduction, the growth rate went
down. It is pure arithmetic, it is very simple to prove but it is very difficult to
transmit in the political discourse, people are not willing to accept that very
easily.
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So what can be done? What is to be done is to explain what is going on in
many countries where growth is slowing and the catch up process with the
United States has stopped?

To give you a figure, Italy in 1950 had a per capita income which was 50%
of the US, even 40%, in late 1970s it was 80%, tremendous success. Now
it is 65%. So it went down, brutally. Why? Because they stopped working. Is
it a choice? Yes, it is a collective choice. But it is not explicitly said like that.
And one of the big mistakes is to think that by gain of productivity you will
compensate the loss of hours worked. This is not true. Because you cannot
gain more productivity than the guy next door. The productivity will be the
same. Basically if you compare the productivity in Korea, Japan France and
the US it is more or less the same, same technique. So the difference is
basically in the quantity of work. If you want to get over it, if you want in the
case of Korea to regain a higher growth rate, is it possible or not?

There is one line of argument which says it is not possible because the
Korean economy has reached a certain plateau, a certain kind of maturity
and in a mature economy the growth rate becomes much slower than in the
initial period. This is not completely true, because as long as you are behind
the leader there is room to catch up. The rational saying that we are mature
therefore we stop growing, this would work only if the production of Korea,
the accumulated wealth of Korea was the equivalent of the accumulated
wealth of the Americans. It is not the case. You are still far behind. The
argument of maturity is not a valid economic argument. It just does not
play. The other argument which is competition is also not a valid argument.
Competition is not replacing French goods with Chinese goods or whatever.
It is increasing the size of the market. What we have now is an increased
size of the global market, therefore you do not have slow growth because
of more competition, you have slow growth because you are not competing
enough in the global market which size is increasing. Therefore these
two arguments are economically non-relevant. If you get rid of these two
arguments you get back to what works and what should work for Europe as
in the case of Korea. | won’t mention the free market agenda, we all know
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by heart what free market means, what competition means, we all know
what destructive creation means. There is no need to elaborate on that.

The key factors are of course, first labor market flexibility. Labor market
flexibility is an absolute essential parameter. It is essential and it is
extremely difficult to implement because there you are in a political fight
against people who are not interested in labor market flexibility. You are
confronted with the insiders not the outsiders. The outsiders, the younger
people who are looking for a job will never support you because they don’t
know they are victim of the system. The insiders who already have a well-
protected job will be extremely vocal. Therefore in order to promote a free
market policy, the quality of the political discourse is absolutely essential.
If a political leader is not able to explain why he is promoting a free market
economy he will not go far. If we remember Ronald Reagan, Margaret
Thatcher, Helmut Kohl in their respective countries or even Gerhard
Schroeder, a so-called “socialist”, in Germany have all been extremely good
to ensure that free market policy and labor market flexibility would benefit
the outsiders. They would always quote the poor guy out there without a job
and show that this poor guy out there without a job would be the first one
to be a beneficiary of this free market policy. Therefore explanation and the
quality of explanation and the way to convey this message is key. If | may
mention the case of France, so far the French President has been unable
to convey this message and the problem in this weakness to convey this
message has been the reason why the reforms promised in his platform
have not been able to be implemented so far.

| will mention two other factors that are extremely important for a high
growth economy. Education, everybody talks about education. Education
has two virtues. The first one, the more educated the people are, the
more they are willing to accept labor market flexibility. It is the uneducated
people or the people with poor education who are unable to cope with
the flexibility of the labor market. Basic education at the high school level,
technical school and college level is the key to implementing this flexibility.
To remain in the domain of education, it seems to me that having visited
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many universities in Korea they are still very much behind what would be
expected of a country like South Korea. It is a very conservative education.
It is not very much open to the rest of the world, very few foreign students
and very few foreign faculties. So | am not sure if South Korean universities
are geared for high growth. This is compensated by the fact that many
Korean students go to study abroad, but in those cases they remain abroad.
Therefore | think one of the keys for high growth, as | said before, is basic
education for labor flexibility and higher education to promote innovation in
a more competitive world. This seems to me some of the weaknesses of
Korea.

Also eventually and | don’t want to elaborate too much as | have already
spoken many times about this. | always consider for many years that Korea
is not using its civilization as an economic asset. Korean civilization is not
well known abroad and the image of Korea is very weak and | think this has
some economic consequences. To tell things in a simple way and | have
often repeated, if you buy a perfume, you will tend to buy a French perfume
because this is the image of France, if you want a very costly car, you will
buy a German car because this is the image of Germany, if you want to buy
a very stylish electronic gear, you will buy something Japanese. By the way,
most of French consumers think that Samsung is a Japanese company
because it fits with the image of Japan. Samsung knows this, | asked them
why they did not try to promote it as a Korean product, they said no, we
would lose consumers, it is much better for us if they think they are buying
Japanese.

So the image of Korea is very weak, so you lack what | call a “cultural-
added value”. And | think if you were able by a systematic public relations
and advertising policy, | won’t get into the details of that, you would promote
Korea as a brand. The consumers in the global market would be attracted to
Korean products because they are Korean. | don’t know of any consumers
who are buying products because it is Korean, they don’t. That is because
the image of Korea is so weak. Therefore one of the many parameters on
which Korea could work, the macroeconomic parameters that keep the free
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market going, have a labor market flexibility, encourage creative destruction,
favor education to facilitate flexibility, have better universities geared to the
world so that you have innovation and promote Korea as a brand in order to
give you added value to Korean products.

These are some of the elements that | think will help Korea to reconnect
with high growth. And high growth can be reached because you are not at
the top of the curve. You are still on the learning curve and for some years
to go.

Thank you.

Questions & Answers

Q Thank you Mr. Sorman for your excellent speech. The world is
wondering what is happening with the economy, whether the US is in a
recession or is going into a recession or about. The ultimate judge, the
official judge is the National Bureau of Economic Research which has to
wait until time goes by to say whether it was in a recession or not. What is
your sense of the US, you seem to be more optimistic about the impact of
the crisis on the US. US leadership is dependent upon the financial services
being the forefront of the world. That right now is very much on the question,
there is some question about whether people understand what is going on
right now and there will be some time of regrouping. | would like to hear
your opinion on that.

A |t is a one billion dollar question. | noticed that since the crisis started
everyone is talking about a recession. What we have in the United States
for more than two quarters is slow growth of less than 1%. But we don't
have negative growth, so technically we should talk about slow growth not
recession. And also the job market has not really been impacted by the slow
growth. Suddenly some people are not being paid well but the level of
unemployment is very low, inflation is under control which is very important
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for future because if not it would be a threat for future investment. What was
feared was the credit crunch, small companies would not be able to borrow
because the banks would not lend to them, the credit crunch did not
happen.

So, so far the worst has been avoided, the US economy is still growing
and the fundamentals have not been affected. Why is this? | think one of
the reasons has been that the crisis has been well managed and the US
authorities, the treasury, have learnt from past crisis. The good thing about
economics is that you make mistakes but that you learn from your mistakes.
The two major mistakes that could have been committed and that had been
committed in 1930s and 1970s. In the 1930s it was to close the border and
to have a protectionist economy that aggravated the crisis for 10 years.
There has been consensus that the 1930s crisis was severe but became
a disaster because of the mistaken intervention of the central bank and
government. In this case it was very clear that the Government and the
Treasury would not go for protectionism and would not go for regulation but
considered that capitalism would cure itself spontaneously.

Another mistake, which has not been done, was the one made in 70s
when the Keynesian policies were implemented for the first time and there
was a tremendous increase of money from the central reserve system
and the consequence was that the United States developed a new term
“stagflation” (stagnation plus inflation). This mistake has not been committed
again.

So far one of the reasons why the crisis in the system has not brought
about more severely has been because of good management. And good
management that has been based upon the knowledge that has been
accumulated during the two former crises. And the two same scientific
lessons have been absorbed by all the other economies and central banks
around and there is a kind of coordination to a certain limit by all the major
players, the central banks in Asia and Europe with the United States. This is
why it is under control.
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However there is a risk about the lack of credit which could impact the
investment in the United States. The question is whether the US will
accept the Sovereign Wealth Funds to invest in the US economy. And
someone will have to answer this question. Will the US and Europe accept
Sovereign Wealth Funds from China, Kuwait and Russia? | think they
will because these funds are needed financially and because the risks
are limited. If Sovereign Wealth Funds are invested in your country, in
your industry, they are part of your system. If you remember the debate
in 1980s when Japanese companies were taking over real estate in New
York and California. The Americans said it is not possible, we cannot sell
the Rockefeller Center to the Japanese. But they were not able to take the
Rockefeller Center back to Japan with them. It is the same case now. So
sooner or later the Sovereign Wealth Funds will be invested not only in
treasury bonds but they will be invested in the real US economy and will be
one of the long-term consequences of the US Subprime mortgage crisis.

Q This question is not directly related to your lecture, but do you think
that the EU as an organization is suffering from “democratic deficit”, if so
does it have any impact in the economic area?

A Well, I'm sure students in the EU know what “democratic deficit” is in
the EU but | am not sure that members of the EU know what it is, it is kind
of a code word. It means that the key decisions are made by the
commission in the EU and the commission is basically elected by nobody.
So it is considered basically as not being very democratic. But the
commission maybe is not elected, the commission members are selected
by the governments but they are acting within the European constitution.
Therefore they have a very clear mandate, so | don’t think that we have a
“‘democratic deficit” because the commission does respect the mandate that
it receives from the European constitution.

Also | would like to add something on the European Union. The EU has
been built up as a free trade organization in order to erase war from Europe.
The starting point of the European Union was how to get rid of war from
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Europe after one thousand years of wars. The answer was free trade. So
the purpose of the EU is free trade. So all the decisions taken in Brussels
is made to help free trade. If you want to have free trade you need to
eliminate regulation or have common regulation, you need to eliminate state
subsidies and you need to have a common currency. And Europe as a free
trade zone has been a tremendous success, not only economically but also
diplomatically because you have no more wars in Europe. People tend to
forget that this was the purpose of Europe.

So now as some politicians and scholars say what is next, why don’t we
use Europe to counter the influence of US, why don’t we build a strong
European army, have European diplomacy. But this was not the purpose
of Europe. Firstly the Europeans do agree to free trade and to share their
prosperity. But they do disagree on their view of the world, some are pro-
Americans like the British or Poles, some are anti-Americans like the
French and the Spanish. So there is no possibility of building up Europe
as a counter power vis-a-vis the US. | modestly think we should stay with
the initial agenda because it has been so successful and the lesson for the
rest of the world is that free trade leads to peace. Not necessarily. It is not
a sufficient condition but it does help people to be more civilized in their
relationship.

Q Mr. Guy Sorman, | am in full agreement with the point you raised. The
labor market flexibility and higher education system mutually reinforce to
help the higher growth momentum. As you pointed out, Korea really has a
serious problem in these two fronts, labor market flexibility and higher
education system.

Now with a new Korean President who enjoyed a landslide victory on the
promise that Korea would gain a new growth momentum, pledging what is
called a “747” policy to raise the growth rate to 7%, to make Koreans’ per
capita income 40,000 dollars in the next 10 years and to make Korea the 7th
largest economy in the world.
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After seeing the performance of President Sarkozy who also promised
and tried to deliver a reform agenda in labor market flexibility and education
system. But | recently read in the Economist that his performance was very
disappointing, that he could not deliver on his promises. So my question is
what can the Lee Myung-pak government learn about President Sarkozy’s
performance, even though he really tried to push through his reform
agenda.

A Well, keep one wife at a time, so you don’t get distracted. Sarkozy’s
private life really was an embarrassment for him and the nation during the
first six months. He was completely distracted and they were only interested
in his private life so he was unable to make any decision. That has been a
disaster. But things happen. The fact that the President was not able to
focus on his office was a terrible consequence.

If we put aside the personal life of President Sarkozy, what can we learn
that has more general consequences? Two things. One you need to have
a very clear political agenda, in the case of Sarkozy the political agenda
was not clear. He promised everything to everyone. And if you don’t have
a clear-cut agenda and if you are not prepared to have enemies you will
lose. You must be prepared to have enemies. You must be prepared to say
here are the people who | will be working with and here is my opposition
and we won'’t have the same vision. Sarkozy wanted to include everybody
in his government, he put a lot of socialist members in key positions in the
government. Therefore this very nice and charming consensus building does
prevent him from taking difficult decisions. He has become the prisoner of
his own socialist minister. He cannot make decisions that would send his
socialist minister out of the government. So you better keep with your own
people with your own majority, don'’t try to build a consensus. No consensus
building, | think in democracy consensus building is not necessary. You
have a majority and you have an opposition, if the opposition is not happy,
they will run again next time and maybe it will be their turn.

As | said before, clear cut agenda and explain. If you are in favor of a free
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market policy, you should explain that you don’t do that because you are a
committed ideologue, you don’t do that because you are in love with some
free market economist or you want to copy the United States. No. You do
that for the good of your own country and you have to explain in very simple
terms what it means for every Korean. “I am choosing this country because
you, you and you in this place in five years time will be better off”.

So communication is a key element in a free market-orientated economic
policy. If you apply a left-wing policy, you don’t have to explain because it is
nice, basically it is nice. You are with nice people, it is good for the people
so communication is not necessary. But free market you need to explain
because the spontaneous reaction of the people is negative. So clear-cut
agenda, no consensus, explain, explain constantly that it is for the good
of the people. This is the kind of recommendation | could do based on the
French experience because this has not been done in the case of France. It
had been done in the UK by Madame Thatcher, it had been done by Ronald
Reagan and strangely enough it had been done by Schroeder in Germany.

When Schroeder in Germany, being a Social Democrat, was explaining
why he was cutting welfare in Germany, he was able to convince people
that he was cutting welfare for the benefit of the German people. And this
was understood. There was a very strong argument used by Schroeder
and it worked very well in Germany. It was the argument of seriousness,
let's be serious. Let’s not try to sell a kind of economics that looks nice but
works nowhere, you deserve a serious economic policy, we have to balance
the budget because we are serious, we have to fight inflation because we
are serious. The argument of seriousness, which was a cultural argument,
was also extremely helpful in promoting the kind of policy that has been
implemented in Germany. So those are some arguments that could be
used.

Q Will a FTA between South Korea and the EU be mutually beneficial to
both economies?
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A The answer is yes. And | don’t see how it could be no. It does not
come to mind of any free trade agreement that has been bad, | cannot think
of any example in the world in which a Free Trade Agreement is bringing
disaster. The benefits are evident. As you know, free trade does increase
mobility and flexibility. Therefore free trade is good if the country is prepared
to adapt very rapidly. Which brings us back to this labor flexibility question
and education question. But within this framework there is no debate about
it. But of course you have certain lobbies opposed to it and certain insiders,
which oppose. Therefore we get back to this essential aspect of a free
market, which is communication. And this kind of communication should
always be rooted in the national culture. When | mentioned Schroeder, he
was using German concepts to explain when he said “my policies are
serious.” In France seriousness is maybe not the right concept. But it is
good to root the economic policy in the national tradition. There is always
this risk with free trade and with free market that it looks too American, that
it is good for United States. No. You have to bring it back to their own
tradition, the bourgeois tradition of Korea, the work ethic of Korea, the
merchant culture of Korea. So that people can connect national interests,
free trade and free market. It is not some kind of foreign gimmick which was
brought into Korea, it is the true civilization of Korea to act as entrepreneurs.

Q |t is reported that Scandinavian countries, Sweden, Norway and
Finland are ahead of the United States in terms of productivity level and
national competitiveness even though they maintain a mixed economic
system of socialism, high level taxes, welfare and less flexible labor market.
And some reports point out that the prospects of the Irish economic outlook
is not good as it is too vulnerable to foreign factors. | am wondering about
your response on such reports.

A Well there are some rumors about Ireland very recently because of the
level of ineptness of the Irish companies. There are fears of a credit crunch

in Ireland. It is true the growth of Ireland has been tremendous for twenty
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years and it has been based on, a bit like China, foreign investment. There
is then a fear of a credit crunch in Ireland. So far those are only rumors,
nothing has really happened. | don’t think that threatens Ireland. There are
many people who don't like the success of Ireland because it is too much
dependent on foreign investment; it is a kind of nationalistic thing. But so far
for the Irish people the situation has been very good.

What you say about Scandinavia was true is no more true. Starting
in 1980s the Scandinavian countries began to completely transform
themselves. There has been high level of privatization, especially in
Sweden where nearly everything has been privatized. And even the local
services have been privatized, schools have been privatized, kindergartens
have been privatized. So this so-called Swedish model, which had been
extremely popular all over the world in 70s and 80s, doesn’t exist anymore.
It is true that there is a kind of, | would say, a feeling of social responsibility
in Scandinavian countries which is less geared to the institutions and more
geared to the local culture. Those are a very small number of people and
therefore there is a sense of solidarity which is more rooted in the common
civilization and common religion. So people would behave in a less selfish
way than, | would say, they would in Europe. But it has more to do with the
civilization and it has nothing more to do with the institutions, they have
been completely erased.

The case of Denmark is very interesting and it has been studied over and
over. You have a complete flexible labor market in Denmark. We don'’t have
time to go into the details but basically you can be fired overnight, more
easily than the United States. There is a kind of system that is financed
by the companies which takes care of you immediately so that you will be
retrained and if possible put into another company. It is called Flexi Security,
so everybody now is going to Denmark to study the system. But this system
of total flexibility works because it is a very small country where everybody
knows everybody. So it is quite easy like in Singapore. It is kind of easy to
organize such systems in a very small nation with a family-like relationship.
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And just one quick remark because we did not talk about it in the case of
South Korea. This welfare system, the big bureaucratic welfare system like
in France or the small locally managed welfare system in Scandinavia. They
now have to deal with a completely new population which are the migrants.
And the migrants, they don’t have the same kind of behavior than the other
people and sometimes they would come to France, Netherlands or Sweden
because of the welfare system. This is very disruptive and this is a new kind
of problem and we don’t have time to elaborate on this. Any country where
the demographic is going down as in South Korea will be confronted and is
already confronted by immigration. So far it is not a problem for Korea. But
because of the demographics it will become a problem.

Take the case of Japan. Japan is discovering that there are millions, not
just a few Filipino maids but millions of workers from Iran and Pakistan.
There are millions of workers, so this creates a new situation and it is the
same in the United States. If you have a welfare system, can the immigrants
access the welfare system and under what condition? And in the case of
France we have millions of immigrants who come because of the welfare
system. They are perfectly rational. They want good schools, free, they get
them. They want access to good health care, they get it. Why wouldn’t they
come? It's not their fault. It is we who are not rational. So what | mean by
that is any welfare system now, including South Korea, must be devised
to take into consideration the fact that you will have more and more guest
workers.

Q Thank you for your lecture today. You stressed the importance of the
quantity of working hours, in this regard in someway | agree and in
someway | disagree. The quantity of working hours is very important.
However | think the way of thinking or the working method and the system
is much more important than just working hard. Too much work can be a
hindrance on creativity. Let me give you two examples. The first one is the
method of communists. The average working hours of communist countries
is similar to capitalist countries but the productivity and growth rate is less




23

than that of capitalist countries. The second one, is that the productivity of
IT system, computers save on the working hours a lot. In this regards what
IS your opinion.

A When we are talking about the quantity of work hours as a parameter
to explain the growth rate. We are talking within homogenous systems. | am
not comparing North Korea with South Korea. | am comparing countries
which basically use the same techniques and produce the same kind of
things with the same kind of management. And the Prescott theory only
works within a homogenous economic system. One of the surprises of the
Prescott theory, which is now part of the economic consensus, was to show
how important the quantity of hours and how it cannot be compensated with
productivity gains. But please do look at the Prescott theory, directly in
Prescott or in my book. When you were talking about the communist
economy, there was an old joke that the workers pretended to work and the
communist party pretended to pay them.

Q | very much enjoyed your lecture but | found something that is very
much inconsistent. It is somehow more a remark than a question, that is
something of building a national brand and you advised Korea to build a
national brand. | find that with the market system, you find that companies
build their brands that give the message rather than nations. France and
perfumes, Italy and fashion, Germany and cars are things we got from the
past but are not something that is wise to promote for the future.

The slow growth of Europe, the role of the European Union in it, does
it have no relevance? Without the EU would it be even slower or is it the
stumbling bureaucracy that makes it so slow?

A On the second question. The so-called European bureaucracy, if you
mean by that the people in Brussels, it is a very small administration
compared to the size of the European Union and certainly they are not
slowing down growth. On the contrary | would stress the two benefits of the
EU in terms of growth. First, the EU Commission has been very efficient to
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regulate the telecommunications market in Europe. And the same for
airlines, transportation. All this has been deregulated by the Commission.
And the growth has been tremendous because of this deregulation. And this
deregulation could only be done at a European level because no national
government had the courage to take this kind of deregulation. Because the
lobby was so strong in Germany and France that they could not have done
this kind of deregulation. Thank God, the national governments are able to
say it is not our fault but those guys in Brussels who are deregulating the
energy market. But those guys are doing the right thing.

And the same goes with the Euro. Everybody agrees to criticize the
European Central Bank in Frankfurt but it is good we have the Central Bank.
Because one of the major distortions of the European economy has been
inflation. And because of the Euro we don’t have inflation anymore. And
not having inflation, this has three good consequences, prices are stables,
retired people get their pensions, investments are real investments and not
speculation. So deregulation and the Euro are the two pillars of growth in
Europe. If we didn’t have that there we would be in a much worse situation
in Europe.

About promoting a brand. Should countries promote a brand, isn’t it for a
private company? Well, | think both. Private companies do promote their
own brands and to have a lot of brands is a source of wealth. America is
number one because you are able to quote a hundred American brands,
you can quote many German and Japanese brands, some Czech brands
can be quoted, not many about South Korea, zero about Mainland China.
Which shows how backward the economy is in Mainland China, there is not
one Mainland China brand which is recognized globally. Beyond that, should
a nation promote its brand? It is difficult because as you know a brand is
a consequence of history. As you know it is not easy, how do you promote
Zimbabwe as a brand? But some countries can do that. Japan did it. Clearly
Japan did it in the 60s. Japan decided to rebuild and they put a lot of money
in that. The Olympics in 64 was part of that reconstruction process, to have
a very strong and positive message of what “Made in Japan” means. It
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was a very deliberate policy and it is still going on and they still put a lot of
money into that and it was very cleverly done | must say.

For some countries it can be done and it has economic advantages.
Because once again you can sell out at a higher price if the country can be
related to a dream. To stick with an easy example, with French perfume,
you will pay ten times the real price because they are French. And the same
perfume from Belgium you could not sell for the same price even if it was
the same perfume. With China, they sell because it is cheap and it was the
case with Korea. And Japan in 1920s and 1930s: Japan was cheap. South
Korea is in between, | think there is a deficiency in the perceptions of what
South Korea is about. This can be corrected because you have some
historical basis. | would not recommend that in any civilization but | think for
South Korea it can work and South Korea as a brand can be considered,
to use an economist concept a “public good” and as a “public good” justify
some kind of public investment.
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